MATHEMATICS FORM 1

INTEGERS


(Using calculator is not allowed)

1. 
Find the value of each of the following.

[20 marks] 
2. Find the value of each of the following. Show your calculations.
(a) 2 + (–3) – (–10)




(b) –15 – (–10) + (–1) 
(c) –23 + 21 – (–4)






(d) 19 + (–9) – 8
(e) 21 – (–5) + (–18)





 [5 marks]
3. Find the value of each of the following. Show your calculations.

(a) 12 ( (–2) ( 3






(b) –25 ( 5 ( (-3)
(c) –39 ( (–3) ( 4






(d) –12 ( (–7) ( 2
(e) 21 ( (–3) ( (–7)






 [10 marks]

4. Find the value of each of the following. Show show calculations.

(a) –3 + (–3) ( (–3)






(b) [–5 + (–3)] ( 5 ( (–8)
(c) 16 + 15 ( (–3) + 6



 
(d) –12 ( (–3) + 24 ( (–2)
(e) 10 – (–12) ( 2 + (–6)





(f) –21 + (–30) ( 3

[12 marks]
5. In a Mathematics quiz, each participant is required to answer 40 questions. 8 marks are given for each correct answer and 2 marks are deducted for each wrong answer. Amin answered 27 questions correctly while Muhsin answered 20 questions correctly. Calculate the difference between the total marks obtained by Amin and Muhsin.
[3 marks]
END OF QUESTION PAPER
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(a)�
1 + (–1) =�
(a)�
–2 – (–2) =�
(a)�
2  ( (–2) =�
(a)�
4 ( (–2) =�
�
(b)�
–3 + 3 =�
(b)�
–3 – 4 =�
(b)�
–9 ( 3 =�
(b)�
6 ( (–3) =�
�
(c) �
–3 + 5 =�
(c) �
4 – (–3) =�
(c) �
–4 ( (–2) =�
(c) �
8 ( (–2) =�
�
(d)�
–5 + 3 =�
(d)�
12 – (–1) =�
(d)�
5 ( (–5) =�
(d)�
–10 ( 5 =�
�
(e)�
6 + (–8) =�
(e)�
–17 – 3 =�
(e)�
6 ( (–3) =�
(e)�
–12 ( 4 =�
�
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